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&) Core Concept

The Quadratic Formula
Let a, b, and ¢ be real numbers such that a # 0. The solutions of the quadratic

—b = Vb2 — dac
2a )

equation ax? + bx + c =0 arex =

Negative b, negative b

Plus or minus, plus or minus

The square root of b squared, minus four a c
All over 2a, all over 2a
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Solve x* + 3x = 5 using the Quadratic Formula.

X +%x-5=0 X=-b1 ) e
o= | ~  2a
SR ORI
C=-5 AQY )9@0\
T e B
2 ) 2

Solve the equation using the Quadratic Formula.
1.x°-6x+4=0 (_ 2.2x*+4=-7x 3.5x*=x+8

0o | x| A e A0
- X= 1 i
O

200 X

\
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Solve 25x* - 8x = 12x - 4 using the Quadratic Formula.
-[axT T =]2x +Y

25%1\20)<—r 4=0

R=25 _
=20 X=20*1 j(QO) -~y 25%)
C=4 2029)
X< 20 * 400~ 408 __zofﬁi_ﬁfzi(jp
SO Tk

Solve —x* + 4x = 13 using the Quadratic Formula.
~X T 4K 1320 Ll i
0= - =52 R =3
b= 4 X= -4y ‘ :
T L
C=-1>
X= -9+ 3¢
- Z .
. +
Y=Ll (A7
2
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4. x° + 41 =-8x

Solve the equation using the Quadratic Formula.

5. -9x°=30x + 25 6.5x—-7x*=3x+4

&) Core Concept A e (7Nd

Analyzing the Discriminant of ax2 + bx + ¢ =0

y=ax2+bx+c

Two x-intercepts

One x-intercept

205 Itive ﬁzﬁ\o’hm
Value of discriminant | 52 — 4gc > 0 2 —dac=10 b? — 4ac <0
Number and type Two real One real Two imaginary
of solutions solutions solution solutions
¥y ¥ ¥
Graph of

No x-intercept
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Find thediscriminan F’:ﬁgcdcuadratic equation and describe the
number and type-of salutions of the-equation=
) recd

a.x* - .x2—6x2—6x+8=0 sol.
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